SET-2

Series HRK Code NO 31/2
S 4.
Roll No.

wleell e ®I IW-YETH ® @I85
W Evd fog |

Candidates must write the Code on the
title page of the answer-book.

AT A= H A b 39 TH-99 1 Hid I8 16 € |

-9 H e g1 Rl IR U MU Sig TR H BH IR b GE@-J8 W
g |

HUAT S H A fh 30 TH-97 H 36 T F |

FUAT T T I TT@A T I& A | Ugel, T 61 shATh HAa9d T |

T YA U & fow 15 fe o1 wma femm e R | e & faao
qaiE § 10.15 S foRAT ST | 10.15 S & 10.30 SN Toh ST hadl TeH-9F Wl
TG 31 39 3afy & A T IT-GIEdeRT W IS I T fora |

Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 36 questions.

Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.

Hepfold USTET - 11

SUMMATIVE ASSESSMENT - 11

fasm=

SCIENCE

AEifa a7 : 3 go2 S7ferHaTH 3% : 90

Time allowed : 3 hours Maximum Marks : 90

31/2

1 P.T.O.



HTHTT (3397

(i)

(it)

(iii)

(iv)

(v)

(vi)

(vii)

(viii)

(ix)

(x)

34 Y97-9F &1 g Y, G 37 3K T §, F Fier Wy & | 379eh 3 9rn &
¥l & IR 7@ & 1

aYy yv7 ST & |

R J97-97 § & 397 7 H13 797 377 7857 8 |

STTH YT 3T SR YT § & Gl Fo & IW §IF-JI% G & IR T
foraa & 1

YT 3 JoT T 1 8 3 & YT Uh-UFh 3% & 8 | 599 IoN T 6T 79l
TH T HG |

YT 3 F YT G 4 & 6 F YT 3-31 Al F F | TP IFW AT
30 TG H 378 |

YT 3 & Yo7 G&IT 7 G 18 F ¥ diH-did bl & B | 39 I ATHT
50 51 F 37 8 /

T 3 F Y¥T &I 19 T 24 F YT GiG-Uid bl & & | FHP IR ATHT
70 TG H 378/

YT & & o7 &7 25 H 38 @ o7 YAVICHS HITIcT R STIRG aglased] Fo7
g | Y% 97 UH 37F HT 5 | 13T 70 TR f[FHeql § @ 379FH dacT U G
39YH faheq g1 8 |

YT F & Y97 GEIT 34 T 36 F FIT FINIHE HITT W SATERT G1-31 37Hl &
Y978 1 39 SR Glera H a7 & /

General Instructions :

(i)
(i1)
(iii)
(iv)
(v)
(vi)

(vit)

31/2

The question paper comprises two Sections, A and B. You are to attempt
both the sections.

All questions are compulsory.
There is no choice in any of the questions.

All questions of Section A and all questions of Section B are to be
attempted separately.

Question numbers 1 to 3 in Section A are one-mark questions. These are to
be answered in one word or in one sentence.

Question numbers 4 to 6 in Section A are two-marks questions. These are
to be answered in about 30 words each.

Question numbers 7 to 18 in Section A are three-marks questions. These
are to be answered in about 50 words each.



(viii) Question numbers 19 to 24 in Section A are five-marks questions. These

(ix)

(x)
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are to be answered in about 70 words each.

Question numbers 25 to 33 in Section B are multiple choice questions
based on practical skills. Each question is a one-mark question. You are
to select one most appropriate response out of the four provided to you.

Question numbers 34 to 36 in Section B are two-marks questions based on
practical skills. These are to be answered in brief.

K IRIIC |
SECTION A

39 e Aot o fgdi ot qdte e o snfiass ¥ foflew fomert wem
e T 7 |

Write the molecular formula of the 229 and 3" member of the

homologous series whose first member is ethene.

wifift 7 s S vfesfoal adom (gwew) T @A | TR wro
iy |

Newly formed DNA copies may not be identical at times. Give one reason.

frefaRad @ J@e |, w9 @1 1 500 J Sl Y&H Hd & | STl hl G 9

o

feht Io1l 3ucTsy gIft 2

qreq > I8 > AT —> &
In the following food chain, plants provide 500 J of energy to rats. How
much energy will be available to hawks from snakes ?

Plants —— Rats ——— Snakes —— Hawks

#1s for 20 cm B gl & ITA @H H 15 em g W ud g | o9 g &
wffers o =R sTfyaeon (whfa, feufa, o) i g=h sAmsu |

An object is placed at a distance of 15 cm from a convex lens of focal
length 20 cm. List four characteristics (nature, position, etc.) of the image
formed by the lens.

forelt | H wETEAT 1 T fodor R0 STEwEs g ? 39 & drehdl sl HH]
FATEY A1 39 forawr o foreg 2 |

Why is an equitable distribution of resources essential in a society ? List
two forces which are against such distribution.

3 P.T.O.
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T U T BT WU F HET AMGY ? e % U IR q
SHTehi/HIOT Shi T TR |

Why must we conserve our forests ? List two factors responsible for
causing deforestation.

JMYfeh Tad ARO | STaal 3R Tl hl T fafau | (i) foreht omad # 8
IR F TR AR W W, A1 (ii) FpE T8 # W & A= I° | a0 o gifcash
rfieteron # fohe TR TitErd BT B 2 794 3T sl hRuT |igd gfse hifs |

Write the number of periods and groups in the Modern Periodic Table.
How does the metallic character of elements vary on moving (i) from left

to right in a period, and (ii) down a group ? Give reason to justify your
answer.

Na, Mg 3R Al 3gfHe Tad AR & Ao 3Tad o awd @ Sl 99g e
HOT: 1,23 138 | 390 9 Tha aw@ i (a) TANSIHal Afyehad, (b) THTY]
B stfreeaw, qen (o) TamEe Afufshamfiaar siftear 8 2 3 & fou
319 I I RO Figd g HifT |

Na, Mg and Al are the elements of the grd period of the Modern Periodic
Table having group number 1, 2 and 13 respectively. Which one of these
elements has the (a) highest valency, (b) largest atomic radius,
and (c) maximum chemical reactivity ? Justify your answer stating the
reason for each.

RGN

(T Tt | TErHes THteRtor oft ferfaw)

(a) TIHIA A § el g 2

(b)  TAHIe I Hig H,SO, Ao o 443 K9 7 fehafm Sra1 8 2
(c) TIMIA | HISIH 1 Zhel ST ST & ?

What happens when
(write chemical equation in each case)

(a) ethanol is burnt in air ?
(b) ethanol is heated with excess conc. H2SO 4 at 443 K ?

(c) a piece of sodium is dropped into ethanol ?
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TEeRur ITTNTTshaT <A1 SameaT T HHISHIT hl TEdT § hIfY | Teetientor
i o foru foreft forameparma <1 aui hifSg |

Explain esterification reaction with the help of a chemical equation.
Describe an activity to show esterification.

Tl YT ICTEM <h! HERIAT § SRS i Fob SR g1 319 SfieH-hred §
afia fafdme g wd wteror SRt errelt difeat § gemgra =i 7€ 8 ura | 3|
TR o T el IR &l bl & ?

With the help of two suitable examples, explain why certain experiences

and traits earned by people during their lifetime are not passed on to
their next generations. When can such traits be passed on ?

“Sta-fasma den Sfiat w1 affertor TER TEEfAa € 17 39 eF i SR digd
oz i |
“Evolution and classification of organisms are interlinked.” Give reasons

to justify this statement.

S FS{al W1 Teh a0 HEw Ul &0 8 | 39 HeF o 94 H dF SR ST |
Reproduction is one of the most important characteristics of living beings.
Give three reasons in support of the statement.

TG T ST g S ST 9UiE I |

Describe reproduction by spores in Rhizopus.

mfemer St Uk & foru foemfaa it w8 A9 derdient 1 g SARe | 3 |
hI9-Et Tehrileh JENI o ToTT &l 8 ? 3 dehrilohl o1 39N fohd bR fopeft aftaw
% T IR wgfg I €Y yifad wLar § ?

List three techniques that have been developed to prevent pregnancy.

Which one of these techniques is not meant for males ? How does the use
of these techniques have a direct impact on the health and prosperity of a
family ?

forelt it ofm gro foeet foma w1 @9 T foafta (a) ameafess, ok
(b) 3TEt fdfers 59T <9 o fore fomor e difve | g8 sm@ ¥ O, F
g 2F <t feyfoar ot sifera Hifo |

Draw ray diagrams to show the formation of three times magnified

(a) real, and (b) virtual image of an object by a converging lens. Mark the
positions of O, F and 2F in each diagram.

5 P.T.O.
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‘o ThTeT <Rl fa&Tur & o YU 8 2 39T Rl fOIRaT | i o {58 g
3ad b1 o fa&iuur shi e o foru foptor s difve |

What is ‘dispersion of white light’ ? State its cause. Draw a ray diagram

to show the dispersion of white light by a glass prism.

(a)

(b)

(a)

(b)

(a)

(b)

I U A< HEEqUl UThfaeh HEeH §, S Siad % fow omd 7 |
3MYeh fos o6 a7 I8 =18d & foh 3719 THTcHS HodTeh fshathatd oh
fom, “vmomgR wTeRfie TS — A i hH F=T0 AN W R AleE
TARY | S Bl HY g9 & 91 T U YSH H AMReehdl 3¢9 i &
T %% 3§ 3U™ gImsw |

Torefl T U 1 AW 3T 3IHhH e ifse frees gry WS T Rl
I = fira & Temr S & |

Water is an elixir of life, a very important natural resource. Your
Science teacher wants you to prepare a plan for a formative
assessment activity, “How to save water, the vital natural
resource”. Write any two ways that you will suggest to bring

awareness in your neighbourhood, on ‘how to save water’.

Name and explain any one way by which the underground water

table does not go down further.

fehegfee 3w & difgd #IE O 5 m @ sifees gt W feorq fomail =l Tase
& @ urar | 3@ g W % S B9 & 3 dwifad wrei HogEh
ST | fortur 3@l <hl TEEdaT ¥ SArE hifse o

() 98 B 5m ¥ Afew gl | feuq forall 1 e =4 T8l q@
1T |

(i) 39 3fe T o GeIe o T 39 fohE ThR o6 1| T ST AT
IEU 3R 39 <Y o ITAN N 39 29 1 ey fhd bR gl
2|

I, 9 YT H, WY 18 hl BIhH gl 1 HEATHS UH 5 m &, dl

Tt wrcfta fog IRl 6 AR 39 <9 61 guar Ja i |
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(a)

(b)

fr=fafgs deor aiferem &1 fowewor Sifve, foed soar o f feafa o

A student suffering from myopia is not able to see distinctly the

objects placed beyond 5 m. List two possible reasons due to which

this defect of vision may have arisen. With the help of ray

diagrams, explain

) why the student is unable to see distinctly the objects placed

beyond 5 m from his eyes.

(i1)  the type of the corrective lens used to restore proper vision

and how this defect is corrected by the use of this lens.

If, in this case, the numerical value of the focal length of the

corrective lens is 5 m, find the power of the lens as per the new

Cartesian sign convention.

forgl (w % @y ykifoglh (v) 1 o= g M g, 3N oA 18

afterer fopu & fefafiga awat & s &S

qE u (cm) v (cm)
1 - 100 + 25
2 - 60 + 30
3 -40 + 40
4 - 30 + 60
5 - 25 + 100
6 - 15 + 120

(a)
(b)

(c)

I ¥ 1 BIRH gl AT @ ? A IR hl gfee % forw sror i |

39 Jequr 61 e e fafee s ad 98 7 | a8 fsed o fohg st

R fHepren 8 2

forel 3fe@ 9u o1 TR A HEAT 2 % UHU % faw R @
Eitau | Aaes 1 ot g9 off 3ia HIfT |

7
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Analyse the following observation table showing variation of
image-distance (v) with object-distance (u) in case of a convex lens and
answer the questions that follow without doing any calculations :

(a)

(b)

(c)

(a)

(b)

(a)

(b)

3. No. Object-Distance | Image-Distance

u (cm) v (cm)

1 - 100 + 25

2 - 60 + 30

3 - 40 + 40

4 -30 + 60

5 - 25 + 100

6 -15 + 120

What is the focal length of the convex lens ? Give reason to justify
your answer.

Write the serial number of the observation which is not correct. On
what basis have you arrived at this conclusion ?

Select an appropriate scale and draw a ray diagram for the
observation at S.No.2. Also find the approximate value of
magnification.

Ife fordt gdur g 3 o oo foear i fopelt oft fourfa & fow @ea
& Bler, Har IR HE Afdfers s=ar 7, A1 39 YUl I Wehid foTfeq
IR U IR HI g & foru fopor s oft Eifew | 38w & qdun
&1 T v fiRgu qen et IuAm bt TR Srar 2, SHeR 3g@
i |

el gdon il ashar B i gty fafae | fordt mefter gdor 6
TRd 3R B gt 1 shifoe, foeeh! ashal BT + 24 em 7 |

If the image formed by a mirror for all positions of the object
placed in front of it is always diminished, erect and virtual, state
the type of the mirror and also draw a ray diagram to justify your
answer. Write one use such mirrors are put to and why.

Define the radius of curvature of spherical mirrors. Find the
nature and focal length of a spherical mirror whose radius of
curvature is + 24 cm.



22, I i Teh-Ush ICTEUUT Cehl U SA&IUNl S ST @e1onl o e fasie
Hifr | el e g S AR e i ST S el
o FETETA R TEl B ? 39 q2F T HRUT IETEWT ¢oht TS ST | 5
With the help of one example for each, distinguish between the acquired

traits and the inherited traits. Why are the traits/experiences acquired
during the entire lifetime of an individual not inherited in the next

generation ? Explain the reason of this fact with an example.

23. (a) TMd HIEI 4 9F o FHTIRId Jcdsh YN s il bl I hIfT

i)  AERH
(i) AR
(iii) AR Z=d
(b) HHI TSl H WAH=CT bl TEAT 3T AT ol 3T HiNT | 5

(a)  Write the functions of each of the following parts in a human
female reproductive system :

) Ovary
(i1) Uterus
(i1i) Fallopian tube

(b)  Write the structure and functions of placenta in a human female.

24. $© JAMfehi DI FTZGHET FII Hgl AT & ? Uoohd, Ucshld I Ueshlsd hi
TR AT 1 G g TARET am Y AUl o YuW UeEd i gt Wl
Hifau | Uesh 1 Uoohd § gRafdd o i sl o1 am gy sik
O iR gl 58 AMNGRIT & 8F o o stavgss aifeafaat 0 ot
T3 | 5

Why are certain compounds called hydrocarbons ? Write the general

formula for homologous series of alkanes, alkenes and alkynes and also
draw the structure of the first member of each series. Write the name of
the reaction that converts alkenes into alkanes and also write a chemical

equation to show the necessary conditions for the reaction to occur.

31/2 9 P.T.O.
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qd
SECTION B

fortt BT 1 3T TR H TAN HH o T hak T =MET S 37E I8
% &F H 9Ty g 7 | TS B 9 dAdu 7, S AHd I H e W 3
HIR I ST Tehd & | Ta o FEAfaRad Tqg § @ 98 gug e fSraes g
AU I A I H =il A W I HSW I &1 ¢ |

(A) HifeTm FANES, M FarEs

(B) @ifsam Tcthe, WM Tcthe

(C) HifeIH Gohe, hicuaq Tohe

(D) HfcHTm Fcthe, Hicaad FTANES

A student requires hard water for an experiment in his laboratory which
is not available in the neighbouring area. In the laboratory there are
some salts, which when dissolved in distilled water can convert it into
hard water. Select from the following groups of salts, a group, each salt of
which when dissolved in distilled water will make it hard.

(A)  Sodium chloride, Potassium chloride
(B)  Sodium sulphate, Potassium sulphate
(C)  Sodium sulphate, Calcium sulphate
(D) Calcium sulphate, Calcium chloride

TR STRAT T 3TETo Hid THY A9 it § 9e |9 A1 § foeht
TIEH aeafd 9 § NaOH &l 20% Sielid faerm fiema 8, & &1 Jeqor s
7

(A) T 61 T TEU U B W 7

(B) et H il Yeseree & W R

(C) iRt 1 aed 758 A B T R

(D) et T TELl IS8 381 &1 T @

While studying the saponification reaction, what do you observe when

you mix an equal amount of colourless vegetable oil and 20% aqueous
solution of NaOH in a beaker ?

(A)  The colour of the mixture has become dark brown
(B) A brisk effervescence is taking place in the beaker
(C) The outer surface of the beaker has become hot

(D) The outer surface of the beaker has become cold

10
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ST& AT Teh @A H AITSIH FIShEHS T U Toht ITH THITCH 3T hi

FS Jo Sl 8, d FEfiad § § hiH-81 Y01 Hd & 2 1
A) g srfufshan 74

(B) G Ty aTell TTEH 1| o1 disl gegarae o a1 fomed

(C) e gegerge o @1 R T A 9 o fomra

(D) TRM 3R T9EH 19 % FAGA! T ST

When you add a few drops of acetic acid to a test-tube containing sodium
bicarbonate powder, which one of the following is your observation ?

(A)
(B)

(®)
(D)

No reaction takes place

A colourless gas with pungent smell is released with brisk

effervescence
A brown coloured gas is released with brisk effervescence

Formation of bubbles of a colourless and odourless gas

39 MG H 3Ia i, fria i X foaes s =61 e foees g fefua

fopam o B 2 1
(A y,p,z
B) x,q,z
C) pyz
D) p,zYy

11 P.T.O.
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Study the following ray diagram :

In this diagram, the angle of incidence, the angle of emergence and the

angle of deviation respectively have been represented by

(A)
(B)
(©)
(D)

Y, P, Z
X’q’z
b, Y,z
p’z’y

HIE BE AT HEIHIYEH ATTAT DIV (£ 1) o fafya 7= & fow &= *

AT | TSR aTefl Jehrer foRToT @1 9y STRREd it 8 | R 98 31deH i %
Ycdeh HIF o TU T9da I (/ r) 3N FTd I (/£ e) o G7d |1 bl HIUCT
2 | 31 HI0T <hl [T9T o1 TIveiwor ek 38 1 sy fehtetat =fgu 2

(A)
(B)
(&)
(D)

Zi>Zr>/Ze

i=/Le>/r
Zi</Zr<Ze
i=/Le< /r

A student very cautiously traces the path of a ray through a glass slab for
different values of the angle of incidence (£ i). He then measures the
corresponding values of the angle of refraction (£ r) and the angle of
emergence (£ e) for every value of the angle of incidence. On analysing
these measurements of angles, his conclusion would be

(A)
(B)
()
(D)

Zi>Zr>ZLe
Zi=/Ze>Zr
Zi</Zr<Ze
Zi=/Ze<[Zr
12



30. fqu Tu foptur @l w1 st Hifse iR el o & &t sem giv - 1

X Y

\\x'

<«——20 cm qiat qiat
%

L I /7 /

25 cm—

(A) IR X Fadd U 2 IR IRF Y 30 o9 @, ekl Hiehd GHAT SHES:
20 cm 3TN 25 cm 7 |

(B) I X 30 o9 2 3N Ik Y oradw gdw 2, et wieww gt o
10 cm 3 25 cm B |

(C) I X 31aad oF 8 IR Ik Y 390 quwl 7, Rkl wishe gl s
20 cm 3TN 25 cm 7 |

(D) R X 3T o8 g IR Ik Y 3T qUUl &, Teh! HIehd GHAT HA:
20cm 3R 25cm 7 |
Study the given ray diagrams and select the correct statement from the

following :

Y

%"‘ |

< 90 cm Screen Scre
%

1 7 77

en
25 cm ——

(A) Device X is a concave mirror and device Y is a convex lens, whose
focal lengths are 20 cm and 25 cm respectively.

(B) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 10 cm and 25 cm respectively.

(C)  Device X is a concave lens and device Y is a convex mirror, whose
focal lengths are 20 cm and 25 cm respectively.

(D) Device X is a convex lens and device Y is a concave mirror, whose
focal lengths are 20 cm and 25 cm respectively.

31/2 13 P.T.O.
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13 BH Iad o g TopeT gree fover o1 e wldfere og W Ted Lt 2 |
e W Tose Yfdafers red s & fo7w 38 gdur st Rewesrn gmm

(A) WHY

(B) WG AR

(C) fTorell UEt fearfa o S oig | HTH R B

(D) a1 WG H AR AW Y, ¥ forw i feufa w fnk e 2

A student obtains a blurred image of a distant object on a screen using a
convex lens. To obtain a distinct image on the screen he should move the
lens

(A) away from the screen
(B) towards the screen
(C)  to a position very far away from the screen

(D) either towards or away from the screen depending upon the
position of the object

fesltorast sftst & o1 = fafirs Wt st gg=mq &1 S0 R % fag gewem
39! i3 fgsioreht sis =y | fefafea g 9 & fgeiewst i g

g, =1, Heehl, WY, i, YhA
(A) TF, T IR AKX
(B) =T, WX 3R bt
(C)  HehT, T 3T St
(D) =T, Hahl 3R HTohed!
To perform an experiment to identify the different parts of an embryo of a

dicot seed, first of all you require a dicot seed. Select dicot seeds from the
following group :

Wheat, Gram, Maize, Pea, Barley, Ground-nut

(A)  Wheat, Gram and Pea
(B) Gram, Pea and Ground-nut
(C) Maize, Pea and Barley

(D)  Gram, Maize and Ground-nut

14
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T 2Rl H TfcTRaa afesr @t § -

3T, THIEL, Tell, ST, TSR, Tteht

T O BF- g afcat gusta st o1 gel e S § 2 1
(A) TSR 3R TR
(B) T 3R &
(C) Fell 3R TR
(D)  Fell 3R AwhI

The following vegetables are kept in a basket :

Potato, Tomato, Radish, Brinjal, Carrot, Bottle-gourd

Which two of these vegetables correctly represent the homologous
structures ?

(A)
(B)
©)
(D)

Carrot and Tomato
Potato and Brinjal
Radish and Carrot
Radish and Bottle-gourd

13 B 10 cm BIHA U o ITA A8 HI TN Hleh 08 H AW 2 m g T
T AeRt 6l STl I WS W BIHId AT 7 | §Hoh UYEIq 98 STl ohl
R o | A AR Rggehrar g 3 & ) 35k Afdfers &l TE T Bihiad
HT 2 | 2

(A)

(B)
(©)

(D)

T T SIATAT bl HIhiEd o o fT 30 o9 i forg feem ° Rawerrn
BT 8 ?

T W &4 SIATAT o Tfdiers o 9T3el H =1 A= BIdT & ?
W W T ATl % Uhdfers < derdt (SHe) § g st fewrd e @ 2

T ST W % FEd I (W 5 em gt W) B B, @ W W RN
femrg ez ?

15 P.T.O.
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A student focuses the image of a candle flame, placed at about 2 m from a
convex lens of focal length 10 cm, on a screen. After that he moves
gradually the flame towards the lens and each time focuses its image on
the screen.

(A) In which direction does he move the lens to focus the flame on the
screen ?

(B) What happens to the size of the image of the flame formed on the
screen ?

(C)  What difference is seen in the intensity (brightness) of the image of
the flame on the screen ?

(D)  What is seen on the screen when the flame is very close (at about
5 c¢m) to the lens ?

TR B HEH S W fau oTawEeh Mt (THREe ueiei) #1 3g@
HIT | AR Ifufhar 6 safufsran fasor i wpfa (emeia/ai) @l
Fratft s oo wiew o9 e ghr S 2 JeY o guie FHifu |

Mention the essential material (chemicals) to prepare soap in the
laboratory. Describe in brief the test of determining the nature
(acidic/alkaline) of the reaction mixture of saponification reaction.

afian § fg@ued it Ufsham =t (IR =RON gRT) ShHaR STRE Wiget gy |

Draw in sequence (showing the four stages), the process of binary fission
in Amoeba.

16



Summative Assessment Il (March- 2017)
Marking Scheme

Class X — Outside Delhi Code No. 31/2
Q. Expected Answer / Value point Distribution \\ -\
No. Section — A of marks
1. CsHs, CaHs o+ Y 1
2. If there is error in DNA copying / inaccuracies in DNA copying. 1 1
3. |5J
1 1
4. e Virtual
e FErect
e Enlarged
e On the same side as the object 2x4 2
5. e So that the resources reach every individual or has equal rights
on usage of resources. Y2
e |t also avoids division of society / to maintain social balance /
equilibrium.

%
e [Forces against it — More exploitation by industrialists for

developmental activities/ over use of resources by greedy 2
people, black marketeers. (any other) V2t Y
6. e Forests help in preventing soil erosion / protect biodiversity /
maintain ground water level / help in rainfall / provide raw Yot Y
materials / prevent floods / (any other two points).
e Exploitation by industries / increase in population / urbanization | 1 + % 2

/ cattle grazing / (any other two points)

7. e Periods — 7, Groups — 18 Y2+ Y

e Metallic character decreases along the period because Yo+ Yo
effective nuclear charge increases on the valence electrons
hence decrease in tendency to lose electrons.

e Metallic character increases down a group because effective
nuclear charge experienced by valence electrons decrease, Yo+ 12 3
hence tendency to lose electron decreases.

8. | e Aluminium (Al)
Reason — Valency of Nais 1, Mg is 2, Al is 3 Zz
2
e Sodium (Na)
Reason — As we move from left to right in a period, the atomic
radius decreases / increase in nuclear charge pulls the Y2
electrons closer to the nucleus reducing the atomic size. Va

]
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e Sodium (Na)

Reason — Reactivity decreases on moving from left to right in a Yo
period / any other reason Y2 3
9. e C2HsOH + 302 — 2C0O2+3H20 1
e CHsCH,OH 2neHa0 > CiHa + H20 1
A443K
e 2C:HsOH + 2Na ——— 2C2HsONa + Hz 1 3
10. | e Esterification — A process in which an alcohol and a carboxylic acid Ya

react in the presence of conc. H,SO, to form an ester.

CHsCOOH + CoHsOH —20&:H230: o~ c00C,Hs + H20

Activity —

e Take 1 mL of ethanol mixed with 1 mL of acetic acid along with
few drops of conc. H2SOu4 in a test tube.

e Warm it for 5 min. in a water bath 1%

e Pour the contents in a beaker containing 20 — 50 mL of water
and smell the resulting mixture.

o It will give a fruity smell indicating the formation of ester.

11. e These are not passed because the changes do not occur in the
germ cells. 1
Example- Learning a skill such as dance / music, loss of body
parts / weight / any other example. (Any two) Yot Yo

e These traits can be passed to the next generation when the 3
changes are in the DNA of the germ cells. 1

12. ¢ Different life forms have evolved during the course of evolution. 1
Classification deals with the grouping of these life forms into
groups and sub groups based on similarities and differences.

e The more characteristics any two species have in common,
more closely they are related. 1

e Thus classification helps in tracing the evolutionary relationship
between the two organisms. Hence, evolution and 1
classification are interlinked. 3
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No Expected Answer / Value point Distributio| Mark
Section — A nof marks| s
13. | ¢ For continuation of species / perpetuation of species 1
e |t promotes diversity of characters / helps to show the variations which 1
enhances the survival chances.
e Increases population of a species / any other answer 1 3
14. | ¢ Rhizopus have sporangia which contain spores / 1
Diagram :- %5, labeling:- ¥2
e When sporangia bursts the spores are liberated out. Ve
e They contain protective thick wall to tide over unfavourable conditions. Y2
e On return of the favourable conditions, spores germinate to grow into
rhizopus. 1
3
15. | e« Three techniques — Barrier method, chemical method, surgical method | “2x3
e Chemical method
e |t maintains health of the woman, parents can provide more attention Ve
to children / more resources are available to the family / any other.
Yo X 2 3
16. 1
L
. Y
Labeling O, F and 2F
1
A‘
;
—e
B 2F,
C,
N
Labeling O, F and 2F 72 3
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Expected Answer / Value point

Distribution of

. No. ) Marks
Q Section — A marks
17. e Splitting of white light into component /seven colours. 1
e Cause — Different colours of light bend through different
angles w.r.t. incident ray as they pass through prism / 1
any other cause. 3
1
- White light
beam
Glass prism =
18. a) Two ways of creating awareness 1+1
e Door to door campaigning
¢ Nukkad natak / any other method.
b) Rain water harvesting with explanation / preventing over Y2+ 12
extraction of underground water / any other method 3
19. a)
e excessive curvature of the eye lens 1
e elongation of the eyeball Y
i)
Parallel rays from distant Retina
object (a1 infindy) \
\ ',I?”l‘ Image l?n 1
N front of
e the retina
i) Concave / diverging lens
Rays aro first 1
diverged by
concave ens ;
trom & L j Retina
object (at ) )
Einestasie hnagois
"""" formed on
b?”:% Concave lens to
b) f =—5 m (since lens is concave) L.
1 2
~ f(metre) 1
P=—0.2D Yo 5
20. a)f=20cm Y
Sl. No. 3, Since u=-40 cm and v= +40 cm, it may be 1
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concluded that object is at 2F
Ys
b) SI. No. 6 1
When u= -15 cm, the object is between optical centre and
principal focus. So image is virtual and it forms on the same
side as the object. Hence, v should be —ve, but here it is +ve
(+120 cm)
c) f‘ »>
1
F B 2F
B 2F
<+— 60 cm
Ys
Direction of rays
Ys
o _V_30cm _ 1
Magnification ,m = = 60cm " 0.5/- 5 5
21. a) Convex / diverging mirror) Y%
..... M
| Q%&h_ .... '
P B'F é
N
Direction of rays Y%
Use:- As a rear view mirror any other use 7
Reason :- Always give erect and diminished image / Large 7
field of view
Yo

]
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(b) The radius of the sphere of which the mirror forms a part
/ The distance between pole and center of curvature of
a mirror.

¥

Nature of the mirror — convex / diverging mirror

Yo

5
R=2f=24cm

s f=4+12cm 5

22. e Acquired traits — Traits which develop in the life time of 1
an individual and do not pass to the progeny.
Example- Learning a skill such as dance / music / loss of Yo
body parts / weight / any other example.

e Inherited traits — Traits present in the gamete / germ 1
cells which can be seen in the progeny.
Example — Skin colour / eyebrows / any other example. Y2

e Reasons — Traits / characteristics acquired during one’s
life time do not bring any change in the DNA of the 1
reproducing cells / germ cells.

Examples - Decrease in body weight of beetles due to

starvation do not pass on to the next generation 1
because there is no change in the germ cells of beetles. 5
23. (a) Functions: Yot Y
(I) Ovary:-
(i) Production of female hormones/estrogen/
progesterone
(ii) Production of female gamete/egg/ germ cells
Yot Yo
e (Il) Uterus:-
(i) Implantation of zygote / embryo
(i) Nourishment of developing embryo
Yot Y
e (Ill) Fallopian tube :-
(i) Transfer of female gamete from the ovary
(ii) Site of fertilisation 1
(b) Structure of placenta :- It is a special disc like tissue
embedded in mother’s uterine wall and connected to the
foetus / embryo.
1
Functions of placenta :- It provides a large surface area for
glucose and oxygen / nutrients to pass from mother’s body
to the developing / developed embryo / foetus and also
helps in passing the waste from the foetus / embryo to the
mother’s body. 5
24. e Compounds of hydrogen and carbon Yo
e Alkanes — CnHazn+2 Ve
e Alkenes — CnHzn Y2
e Alkynes — CnHo2n-2 Y2
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H H H
| | B Yo x3
H—?—H . H—C=C—H ,6 H—C=C—H
H
e Addition reaction / hydrogenation Y
R R
R\ — R Ni /Pd catalyst | |
cC=CcC ——> H—C—C—H 1
R~ R " |
R R
25. D 1
26. C 1
27. D 1
28. C 1
29. B 1
30. D 1
31. D 1
32. B 1
33. C 1
34. a) Note: For part (a) ¥2 mark to be awarded to every Y%
student
b) Size of the image increases Y%
c) Intensity / brightness of the image decreases Y
d) No distinct image is formed. Only a patch of light is Y%
seen.
35. e Vegetable oil / fat and sodium hydroxide 1
e Red litmus paper turns blue. 1
36.
=3
g -
% x4
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IS e Eifad 3R / Jedied fog I B
W - 3

1. | CH,; CH, v |1
2. | afx DNA sRrafy a1 # 3fai/ wfar = 1 1
3. 5 J 3frar 5 Sl 1 1
4, o I

o T

« foafdfa

o I AR 59 QiR fdq 71 4xY | 2
5. o dIfh IS AfdT Tb AT SIS B Na] YA Afdel BT

TAEHET B SUINT TR FHE IIfTBR T | VS

* I8 FATS B A9 8F | 99mar & /F91al H§ A a1

JEAT B | Y

o M faavl & fasg ardd : AR fSarean & forg

SANTATIT §RT HATEAT BT JD gl /ATl AN/

BTATITSIRAT §RT AT BT MBS SUITT Vot | 2
6. o g1 BT GIEUT HA D BT

HT 3RS 9 9919 /Sl fAfderdr &1 e/ 4/ Sie wR a9

G/ J9T | - BT/ Hedl AT UaTd &_AT /916l

919 / Blg I (@1 T BRI Vot Vs

s IV & HRSD

ISANT GART &8 /Gl | gig / Adrvl / Uil &

ENEVEIME R (@S T BRD) Vot | 2
7. e JTad — 7 ; W (JU) — 18 Yo, Y

* 3Tad & AR G AR A TS 3R WM W dTfcaes &l el

2, qifes AN SotagiHl WX yaTdY A e # gfg gl

ST B | R @l @l getagi™ @ @l gafed gedl S 21 | Y, Y
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T3 &

T&ifad S / Hedieh foig

10.

e TR H FW I AT WM W arfcads 6T "gedr g wiifh daron

goldeTdl U IR YA AT A gedl SIdl & | daroidhdl
Sl WS ¥ G BT I &, 31 geldgid AN &l Ygfed
gedl 9y 2 |

o gt (Al)
HRT : Na @ daioredr 1 Mgar 2 @ik Al @1 3 7|

« difegq (Na)

PHROT : ) Smad H 978 3R W TS IR O | acdl &
URATVST BT AT gedt § | A H e @ awer o
gl B I I8 Selagll Bl AM® Bl R BN HRAT © |
ST BRI WA & A TSl ST 2 |

o Hifsa™ (Na)
PHIROT : 3T | 978 MR | qT8 IR oI H dadi &1 feareferr
# gfg B B | AT 3T B HRT |

« C,H,+30, —52C0, +3H,0

« CH,CH,0H ™59 | ¢ H,+H,0
A 443K

« 2C,H,OH + 2Na—— 2C,H.ONa + H,

o TEABYT : I8 UfthaT B, 99 Pl Uohlald fhl Praifadield
3 @ AT |ig H,S0, @1 IuRYfT # 3iffEar e dig
TN g4 2 |

« CH,COOH + C,H,0H —™ 159, ¢y cOoOC,H, + H,01

foraraweny :

o & ggeel | Aig H,S0, ! |9 §al & | 1 mL vt
IRTT 3R 1 mL THTs® 3l vy |

* 32 O $WH H 5 e dF TH BT |

o 39 TG B UGS Bl IF dIdR H ISl Ity FOrTH
T 20-30 mL ST 81 e 59 fAsor @ e |

o ZAY ATUDI Hell B FIY M ST YR 91 S |

nt%|3

2
72

Ve,

s
Ve,

Ve 3

2

12 3
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11.

12.

13.

14.

o fefl @afdd & SH® T SaddTel @ S1RTd SleToT 3TTel!
Gl # G 9 B B HRO I8 © & I 60T S
PIRERN / DNA # 31 uRads &l & |
e A /TRA/IRR & 3 B &fc /4R | 1

3T PIg LT (@13 =)

o UE IO IFTeAl WA H T dead & Fhd 2, 59 I
S BIfdreT & DNA & aRade & |

o i fq@r @ ufar | fafi=7 Slies W@y fAsRid gu |
TATHROT & <A 3 Sia WRUl BT TS IHRIT Aal AR
SUAHE! H I9H FHamRl iR faf=arsil (fwwdrai) &
IR TR BT S 2 |

o 31 WG # o= o1fdras srficteror Swafss (FAH) 91v ST
g, a1 B Af8d 9 U O | Heed Bl g |

o 3 YHR BRI &I Sildi & 91 faerig Fael o Qe §
TERIdl BT 2 | 31, oid fabra 3R qeffpvor IReR Hafd
Bl 2 |

o TS BT F9T0 AT/ TS BT RIS hROT

o Jg 1o # fafdudr &7 dgmar <ar 2 | fafi=ar <oie & geradn
HRAT & ROy ScaRoiifadr & AT ded B |

o Wi &1 |Afe # gfg a1 2| DIS 39 S

Vot

Vv
72
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e we Eifad 3R / Jedied fog 3ih AT
* S9 ISRl Bedl § al doi] Jad 81 9 © |
o 37 dIoMURl & ARl iR U A fafed gt & St ufiad
aRRefeR # SHPT e BRell B |
* 3de URRfAT S~ B WR Y IO JHRT BIhR gl
B & IR Y ASAIE BT AT FRA T | 1 3
15. | « 09 d@e ;IR fafey, smafae fafe, oo fosan 3X Y%
IR G 1 B Y
o S BT WRY 9T I8dT 8, AraT T gedi uR 1 e o
b 8, IRAR BT 31fSd HARF Ul 8 Hhd 2| @RI BIS) | 2X Y| 3
16. | s/@Edd ¥/ qUERT of |
A
1
Ya
i
f"‘:; M
. ‘R F, 2F,
B 2F, F, B C,
C,
. SN 1
O, F 3R 2F &1 AmHidA iz 3
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e Hed T I / HoaishA foig & | A
17. o IJd YT BT JaIdl qUIt /AT i § AT g9 | 1
o A USRI YA &, Hid & USH F oA W, IFd fAf=
AT guif & GBI BT SMUfAT YbTeT & ATUeT faf=T Pront
TR DT AT 3T BRI | 1
1 3
18. a) SITHGAl S~ B & gl SUT:
o TR—ER STHR SMHA TN 1
o JIDHS ACH BHIAT/AAT A= By IURI 1
b) STA—|UBY & ARAT /AT ST & Qe DI AT/
I Pl fafr VotV | 3
19. | a) (a) <73 o9 @I gbar 4§ gig 8
o 3 D B dAdrs | ghg BT Yax 2
(1) 1
(i) 1|3
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e Hed T I / HoaishA foig & | A
(b) f=-5cm (EfF o F@de o) Y
P=1 @ei®)  m=-3 Y,
A
.'.P=L =-02D 1 5
-Sm
20. | (@) f=20cm Ya
$H A& 3 W u=—40 cm @1 v = +40 cm f&ar a1 & R
Ig =py Mdherar € & I amar o= @erar 2f ) W g, 31id
2f=40 cm 3ar f=20 cm 1
(b) HH AT 6 B USUTH ALl TEl 2 | Vs
Fife 59 u=—15cm 3 a1 9 U & gd IR T BIHA
& g Rera g | ora: ufafas smvrdt &k fam ot fen # & 99+
1R | ra: yfafe & v FOMHd 8 A1y, W= Jgi I8
+120 cm <o T 2| 1
(¢) f=20cm
P T 2 & forg R eg : u=—-60cm ; v=+30 cm
A S
F Y v
F g 2F
B 2F F (O]
«— 60 cm A 1
fopvon @1 faem Y
v _ 30cm _ 1
SIGIE] E—_()Ocm——os.f-g 7z 5
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21.

22.

forron =t fewm
b) SUANT : U39 I JUV & I H/ I DIy SUANT

SR : {9 BT Faa IR vd e ufafar 97 TeIr
39T &7 AIRF BT

gadl f3sar : 99 el &1 aghar Froar ST ggor aig
IRT 8 | SO & ¢d 3R ashdl B & a9

B |
<dor B ygHfa : I /)

R=2f=24cm; .. f=12cm

Sutfld_ @& -

I8 AT Sl FHRd SiiaqhTal § fhdl |afte grT ofvia fer o @
UR=] 3TTell Uil ¥ dRIia e ' |

JETERT : FHRAAG oI 9/ TH /HR H HHI /[T B afey

S IR C S b A

TP /S DIRTBTSN H IURT eI I 3FTell Uit o
U 89 & HRT g <o E |

SETERT : FHS! BT qUl /3 BT I () /3T PIg SSTERT

2

17

Vz!
2

2

2
vz
2 5

V2

V2
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23.

BN :
AT SilaqdhTd § 3ifoid oteror DNA 31erdT ST BIfThish ¥ Bl
IR I~ 8} B B |

JGIEXOT : U9 BT HH & BRI G & IR H HH/ITRR S el
AT & Pe o 3N & BRUT DNA 94 PIFHRIT § ®rs aRdad
T BT | HoRawd A SET0T Tl el HI dRITId T8l 8 |

(a) * TSI B HIA
q1eT B/ SREIST ®T =T

3vs fawmfId &xAT

o THIY™ B &
e 3rve &t T
[EEANEENEIRIER
o JAUSAIRDT / Dellfuad Afadt & wrd
3USHIRIDT  (HIGT Y7Hd) BT AR T ITTIRT
BREREIRSS]

(b) wH~I P |XEAT -
T8 U IR UHR & ARAIGHAT EAT © Sl AR bl

fed # o= Bl & 7o yor | eI Bl © |

<l & & :

At & BER T YT DI T a7 ATaRASI / areeT Ue™ &R
@& oY U 98¢ &5 Q™ &_AT/ AT & IRR 9 fAeid
B YOT PI UIYOT UEATT TAT 40T & SURIET Bl AT & IR
H RIFFIRT HRAT |

Vatla

7t

t
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24, | a) * HIEA IR BESoA & AIRTH /2

« Ted CH,, 72

e T CH, Ve,

e Tedrgd CH,, 72

I I
H—?—H . H—C=C—H H—C=C—H 2% 3
H
Il? R
:;C:(;<::NIMT> H—-(E—(%—H 17 5
R R
-4

25. d 1 1
26. | ¢ 1 1
27. | d 1 1
28. Cc 1 1
29. b 1 1
30. d 1 1
31. | d 1 1
32. b 1 1
33. | ¢ 1 1
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34.

35.

36.

c THH W /R
- gfIfaT &7 Al dodT B |
. yfafew &1 qgar /awd gedl Sl © |

. U R Pl We gfafaw T2 99dT bdol YhI]
BT gedT fo@s a1 2|

.« IO A /I TAT AIfSTH TRSRISS
e ofTol foreqd &1 <ol &) T 2 |

&
S BHBG
™

S

vz,
vz,
vz

2 4

4XxX% | 2
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